

Ajouter et Soustraire Deux Fractions Mixtes (F)

Nom: _____

Date: _____

Note: _____

Calculez chaque résultat.

$$1. \quad 9\frac{4}{7} - 3\frac{6}{14} = \underline{\quad} - \underline{\quad} = \underline{\quad} - \underline{\quad} = \underline{\quad} = \underline{\quad} = \underline{\quad}$$

$$2. \quad 4\frac{1}{4} - \frac{3}{8} = \underline{\quad} - \underline{\quad} = \underline{\quad} - \underline{\quad} = \underline{\quad} = \underline{\quad}$$

$$3. \quad 7\frac{2}{8} - 3\frac{4}{16} = \underline{\quad} - \underline{\quad} = \underline{\quad} - \underline{\quad} = \underline{\quad} = \underline{\quad} = \underline{\quad}$$

$$4. \quad 9\frac{2}{14} - \frac{6}{7} = \underline{\quad} - \underline{\quad} = \underline{\quad} - \underline{\quad} = \underline{\quad} = \underline{\quad} = \underline{\quad}$$

$$5. \quad 8\frac{4}{9} + 1\frac{1}{3} = \underline{\quad} + \underline{\quad} = \underline{\quad} + \underline{\quad} = \underline{\quad} = \underline{\quad}$$

$$6. \quad 1\frac{2}{9} + 2\frac{14}{18} = \underline{\quad} + \underline{\quad} = \underline{\quad} + \underline{\quad} = \underline{\quad} = \underline{\quad} = \underline{\quad}$$

$$7. \quad 3\frac{1}{2} + 7\frac{4}{16} = \underline{\quad} + \underline{\quad} = \underline{\quad} + \underline{\quad} = \underline{\quad} = \underline{\quad} = \underline{\quad}$$

$$8. \quad 5\frac{1}{2} - 1\frac{14}{20} = \underline{\quad} - \underline{\quad} = \underline{\quad} - \underline{\quad} = \underline{\quad} = \underline{\quad} = \underline{\quad}$$

$$9. \quad 7\frac{3}{6} + 4\frac{1}{2} = \underline{\quad} + \underline{\quad} = \underline{\quad} + \underline{\quad} = \underline{\quad} = \underline{\quad} = \underline{\quad}$$

$$10. \quad 6\frac{1}{9} + 5\frac{2}{3} = \underline{\quad} + \underline{\quad} = \underline{\quad} + \underline{\quad} = \underline{\quad} = \underline{\quad}$$

Ajouter et Soustraire Deux Fractions Mixtes (F) Réponses

Nom: _____

Date: _____

Note: _____

Calculez chaque résultat.

$$1. \quad 9\frac{4}{7} - 3\frac{6}{14} = \frac{67}{7} - \frac{48}{14} = \frac{134}{14} - \frac{48}{14} = \frac{86}{14} = \frac{43}{7} = 6\frac{1}{7}$$

$$2. \quad 4\frac{1}{4} - \frac{3}{8} = \frac{17}{4} - \frac{3}{8} = \frac{34}{8} - \frac{3}{8} = \frac{31}{8} = 3\frac{7}{8}$$

$$3. \quad 7\frac{2}{8} - 3\frac{4}{16} = \frac{58}{8} - \frac{52}{16} = \frac{116}{16} - \frac{52}{16} = \frac{64}{16} = \frac{4}{1} = 4$$

$$4. \quad 9\frac{2}{14} - \frac{6}{7} = \frac{128}{14} - \frac{6}{7} = \frac{128}{14} - \frac{12}{14} = \frac{116}{14} = \frac{58}{7} = 8\frac{2}{7}$$

$$5. \quad 8\frac{4}{9} + 1\frac{1}{3} = \frac{76}{9} + \frac{4}{3} = \frac{76}{9} + \frac{12}{9} = \frac{88}{9} = 9\frac{7}{9}$$

$$6. \quad 1\frac{2}{9} + 2\frac{14}{18} = \frac{11}{9} + \frac{50}{18} = \frac{22}{18} + \frac{50}{18} = \frac{72}{18} = \frac{4}{1} = 4$$

$$7. \quad 3\frac{1}{2} + 7\frac{4}{16} = \frac{7}{2} + \frac{116}{16} = \frac{56}{16} + \frac{116}{16} = \frac{172}{16} = \frac{43}{4} = 10\frac{3}{4}$$

$$8. \quad 5\frac{1}{2} - 1\frac{14}{20} = \frac{11}{2} - \frac{34}{20} = \frac{110}{20} - \frac{34}{20} = \frac{76}{20} = \frac{19}{5} = 3\frac{4}{5}$$

$$9. \quad 7\frac{3}{6} + 4\frac{1}{2} = \frac{45}{6} + \frac{9}{2} = \frac{45}{6} + \frac{27}{6} = \frac{72}{6} = \frac{12}{1} = 12$$

$$10. \quad 6\frac{1}{9} + 5\frac{2}{3} = \frac{55}{9} + \frac{17}{3} = \frac{55}{9} + \frac{51}{9} = \frac{106}{9} = 11\frac{7}{9}$$